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MA 341H-040 Test 2 Review Questions
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. Homogeneous 2nd order linear equations with constant coefficients: Sec. 4.2 problems

4, 16; sec. 4.3, problems 14, 24.

. Undetermined coefficients: Sec. 4.4 problems 18 and 32, Sec. 4.5 problems 18 and 28.

. Variation of parameters: Sec. 4.6 problem 18.

Mass-spring systems: Sec. 4.8 problem 2.

Definition of Laplace transform: Sec. 7.2 problem 4.
Laplace transforms from tables: Sec. 7.3 problems 6 and 10.
Inverse Laplace transforms: Sec. 7.4 problems 24 and 26.
Solving initial value problems: Sec. 7.5 problem 10.
Transforms of discontinuous functions: Sec. 7.6 problem 32.

Transforms of delta functions: Use last homework assignment.
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. 4.2 problem 16:
. 4.3 problem 14:
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. 4.4 problem 18:

. 4.4 problem 32:
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7.3 problem 10:
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7.4 problem 26:
7.5 problem 10:
7.6 problem 32:
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